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16E(A)

MATHEMATICS, Paper - IT
(English version) b %
Parts A and B

Time : 2%z Hours] IMaximum Marks : 50

Instructions ;
1.  Answer the questions under Part-A on a separate answer book.

2. Write the answers fo the questions under Part-B on the question paper itself
and aitach it to the answer book of Part-A. :

Time : 2 Hours Marks: 35

SECTI - (Marks : 5x2=10)
NOTE : |

1. Answer ANY FIVE questions, choosing atleast TWO from each of the
. fﬂliowi_ng Groups, ie, Aand B .

2. Each question carries 2 marks.

GROUP- A
(Similar triangles, Tangents and Secants to the circle, Mensuration)

1. What value of ‘%’ will make DE || AB in the given figure ?
AD=8x+9 CD=x+3, BE= Sx+4, CE=x
C .

A * B
2. Find the length of a tangent drawn from a point, which is 15 em away from
centre of circle having 9 em as radius.
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3. Find the volume of right circular cone with radius 6 cm and height 7 cm.
4, Find the vnlu_me of a sphere of radms 2.1cm (usﬂ = 2?2]
'GROUP - B
(Trigonometry, Applications of Trigonometry, Probability and Statistics)
1 |
5 If msﬂ=ﬁ , thenfindsin Aandtan A .
6. A boy observed the top of an electric pole at an angle of elevation of
60°, when the observation point is 8 metres away from the foot of the pole.
Find the height of the pole. =
7. Abag ¢ontaing 5 red and 8 white balls. If a ball is drawn at random from the bag,
what is the probability that it will be .......
(i) white ball, (i) not a white ball ?
8. Write the formula of median for a grouped data. Explain the terms in words.
ECTION - II (Marks 4x1=4)
NOTE :
1.  Answer ANY FOUR of the following Six questions.
2,  Each question carries 1 mark.
9. What are the similar triangles ?
10. Find the volume of hemisphere of radius 3.5 cm.
11. Find the probahility of getting a head when a coin is tossed dnce. Alse find the
- probability of getting a tail.
12. Find themeodeof 5,6,9,6,12,3,6,11,6, 7.
13. If tanA= g—, then findsin A .
14, Find the mean of first ‘n’ natural numbers.
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TION - II1 iMarks 4x4=16)

NOTE :

15.

16.

17.

18.

19.

20.

21.

1.  Answer ANY FOUR of the following questions, choosing atleast TWO from
each group, i.e., A and B.

2. Each question carries 4 marks.

GROUP-A
(Similar triangles, Secants and Tangents to a Circle and Mensuration)

State and prove the Pythagoras theorem.
Prove that the parallelogram circumseribing a circle is a rhombus.

A chord of a circle of radius 10 em subtends a right angle at the centre.
Find the area of the corresponding (i) Minor segment, (it) Major segment.
(use m = 3.14)

A heap of rice is in the form of a cone of diameter 12 m. and height 8 m.
Find its volume. How much canvas cloth is required to cover the heap 7
(use n = 3.14)

GROUP -B
(Trigonometry, Applications of Trigonometry, Probability and Statistics)

k21
kz

If cosecO+cotB =k, then show that cos 8= T
+

Two men on either side of a temple of 30 m height observe its top at the angles
of elevation 30° and 60° respectively. Find the distance between the two men.

One card is drawn from well shuffled deck of 52 cards. Find the probability of
getting.....

(i) aking of red colour, (ii) aface card, (iii) the jack of hearts,
(iv) ared face card, (v) a spade, (vi) the queen of diamond.
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22. The distribution below gives the weights of 30 students of a class. Find the
median weight of the students.

Weight
(in kgs) 40-45 | 45-50 | 50-55 | 55-60 | 60-65 | 65-70| 70-75

Number of ‘
students - 3 ) 0 ) 3 <
SECTION -1V (Marks 1x5=5)

NOTE :
1. Answer ANY ONE of the following questions.

2.  The question carries 5 marks.

23. Construct a triangle of sides 4 em, 5 cm and 6 cxﬁ, then construct a triangle

2
similar to it, whose sides are 3 of the corresponding sides of the first triangle.

24. A tree breaks due to storm and the broken part bends so that the top of the tree
touches the ground by making 30° angle with the ground. The distance between
the foot of the tree and the top of the tree on the ground is 6 m. Find the height
of the tree before falling down.
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This Question Paper contains 4 Printed Pages.

16E(B)

MATHEMATICS, Paper-11

(English version)
Parts Aand B

Time : 2" Hours]

[Maximum Marks : 50

Instruction : Write the answers to the questions under Part-B on the guestion
paper itself and attach it to the answer book of Part-A.

Time : 30 minutes
NOTE :

1.  Answer all the questions.
Each question carries Y= mark.

ot o

or erased answers.

Part - B

Marks : 15

Answers are to be written in the question paper only.
Marks will not be awarded in case of any over-writing, rewriting

I. Writethe CAPITAL LETTER showing the correct answer for the

following questions in the brackets provided against them. 10x¥%=5
1. In thefigure, DE || BC. Find the value of x’. [ ]
A
x+d 2x-1
D E
x+3 x+1
B C
(A) 5 (B) V6
(C) 3 (D) V7
2.  Volumeofthecone = ....... [ ]
(A) mrh (B) nrli
, 1. -9
(C) arr+1) (D) Enrh
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3. Ifthe Arithmetic mean of 8,6, 4, x,3, 6,01s 4;

then the valueof x = ......
(A 7 (B) 6
(C) 1 (D) 4

4. Probability of getting a prime (or) composite .....
(A) Mutually exclusive. (B) Likely
(C) 0O (D) None

5. Lengthoftheclass11-201is......

(A} 9 (B) 10
(C) 11 (D) 20

6. The ratio of volumes of two spheres is 8 : 27,

then the ratio of surface areas .....
(A} 2:3 (By 4:27
(C) 8:9 (D) 4:9

. 3
7. InAABC, Z/B=90° sinC= 5> thencos A = .......

(A) (B)

da o oon | Lo
calen ol

(C) (D)
8. Ifacoin is tossed, then the probability that a head turnsupis........
(A) (B)

(C) (D)

Qo= bo|
o I Y -

9. If x=sin0, y = cos 0, then which of the following is true ?

(A) 22+y°=1 (B) x2-y2=1
X
) —=1 (D) xy=1
¥
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10.

IL.

11.

12.

13.

14.

15.

16.

17.

18.

In the figure, if ZAPB = 60°and OP = 10 ¢cm, then PA = ..... cm. [ ]

A
,-. -
F

o

B
(A) 5 (B)  s5/2
(C) 543 (D) 20
Fill in the blanks with suitable answers. 10x¥% =5

Sum of the central anglesinacircleis .........cocevevceevenenee.

Football is an example of ...........ccocccviervennenne.. (Geometrical shape).

Mol e—2. g; a2 38 ivisoisimshnnegs

P(E) + PINOtE) = cocovivcriricrnnneerenseneenes
From the figure, the probability to get Blue colour ballis ......................

i

® (B) = Blue ball
®® (R) = Red ball

In AABC, ACZ = AB? + BC?, thenright angleisat ........ccocvreveerrssrerinnn.

Base area of circular cylinder is 154 cm?.

Then it FARIIB IS ..covovirmimsreraresisiveiessosssrie

Curved surface area of a hemisphere with radius 7’18 ..vvovviviviiciiceinnnnns

19. AM.of 1,2, x,3i8 0, thenx=.....c.couv.e.
2): A0 30%) = (i il s s
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IIl. Find the correct answer for the questions given under Group-A selecting them
from Group-B and write the indicating letter in the brackets provided against

each question. 10x %% =5
(1} Group-A Group - B
21. Number of chords of a circle s ..... [ ] Aa) 5.1
; J3a
22. Inacircled = 10.2 cm, [ ] (B)
then r = ... cm 2
(C) Infinite
23. Perimeter of a semi-circle, [ ]
whose radiusis ‘7’ = ........ (D) 90
[3a
24. The height of an equilateral [ 1 (E) V2
triangle, whose side is
‘c’ units = .......... (F) 45°
36
25. If AABC ~ AXYZ; £C = 60°, [ ] @) —r
ZB =175°% then /X = .....
(H) 0
(11) Group - A Group - B
26. Ifsec{}+tanﬂ=é A [ ] (I) sin 6
thensecB-tanf = .......... (J) 0.35
29. cos(90-0) = ... [ ] (B 28
(L) 30°
28. If P(E)=0.65,then P(E)= ...... [ ]
(M} 0
29. If sin® =cosH,thend = ...... [ ] (N) 2
30. Sum of 15 observations is 420, [ 1 (0) cosb
then AM. = ......... (P) 45°
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